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13.9.1

84a (8 mwn) > 85b (177172222 NI’N)
Notel: as we've seen previously, *»7 “1reported in m ’7's name that if a 2w »7¥p marries a 7129WN7 112738, the child has a status of a 2w 7130
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I a-x mmwn: lists: permitted marriage and prohibited ma», the inverse, both permitted, both banned

a

‘R Mwn: permitted marriages and prohibited ma»

i VY70 17> married MNYR (or even betrothed; since [a ii] uses ®w, parallel construction here) & brother is 3”2
1 question: why not n9na (she becomes ninx upon death of V171 1n2)
2 suggestion: m%an mNWRY PRIVN (her status at time of original marriage determines status)
3 rejection: case [a ii] should be valid, since she was n7w3 before 5on nxa
4 solution: Rw1 taught due to [c i] which must be nin%R (to be prohibited to both)

ii  Y9n married n7w> (became nYon) and his brother is w3 jn3

iii Y87 married nw1 and his brother is 9N

iv 9mn married nmn and his brother is a Y8

‘2 mwn: prohibited marriages and permitted mya»

i »”ny gave pwyTp to MndR and his brother is a V1711 113

ii 9w 115 married a n%9n and his brother is a %9n

iii Y87’ married nnn and his brother is a 9mn

iv. 9mn who married a Y87’ na and his brother is a 7w YR

‘2 mwn: prohibited to both

i »”n> married an NNYR (makes her n%9n after Nx»1) and his brother is a V™77 115 (or 3"n3)

ii  yn5 married a nY9n and his brother is a 9> 115 as well

iii Y87’ married a mmn and his brother is a 9w3 YR’ as well

iv. 9mn who married a Y87’ na and his brother is a 7mn as well

‘2 mwn: permitted to both — all other relationships

challenge: (X258 ") why not teach 1w »xn that married a 0w and a nwRA (if we accept m>7 "1 — see notel)

i implication: rejection of 171"

ii  answer: the Rin gave an incomplete list (177v1 Rin) —

iii  proof: he omitted R3T yixa

iv  challenge: included in general rubric of 1KY 727N

v block: specific 1R85 7270 are taught (e.g. Yo% nw3)

vi answer: brought to teach that m7w> aren’t banned from marrying 0’104 (see below [f])

vii challenge: why mention 9rn and %on

viii answer: teaches “universal k9" (71n) as well as “tribal 9" (59n)

ix  block: that is already taught [b ii, ii

X conclusion: 9791 Rin — no proof against 17 "1

observation: (support of 29's ruling: ("M11n3%) MIW> are not banned from marrying n'109)

i challenge: np> R..anp? RY (v. 1) >she is equally forbidden

ii  defense: only where he is forbidden is she also (Y9N is not banned from marrying a n1w3)

iii question: isn’t that inferred from v. 2 (23; equates men and women for all pwy)

iv  block: v. 2 would only imply universal 8%

v challenge: if it weren’t for v. 3 (1908 11 to the exclusion of 1778 n11) we would have banned mina
from nn nrkmv even though it is a non-universal 8>

vi answer: we would have derived the proscription from mp> 8Y...anp> RS
1 alternative: inverse: we might have derived nkmo MR from (2np> RY>19R 12 limits to men

vil tangential discussion: attempt to derive law of D%10a8% MW from R:R PWVITP — no mention of
permission > TOR
1 rejection: mwn only lists permitted relations which are mutual (men < >women)
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II "3 nawn: MM and N2

a

Any relationship which is a 17w — only MoR to him, no to the other (na’ or Yya)
i nMv must be divorced, have no financial claims (2113 etc)
i PWITR MR (3”15% NINYR, VTN 1N NARIGM NV, PRI IMANY HRIWY, NORIWY PR tn) have nand (1)
Question: if she is a Y35 1w but not 01"», does she have a n2IN>?
i Answer: since she has no n21n3 from the %y3, no n21M3 from D2’ (02> N2IN3 was only ordained in case
there isn’t enough in the estate of the Yy2)
Question: if an 3"3% NNYR (etc.) borrow against their n2m> for food while husband is abroad, can they
claim it back as N2> or, since they don’t rightly get manm, there is no claim?
i Answer: she doesn’t get it, except in case of food spent after death of husband
Question: why doesn’t 1w get n21n3, whereas nwTp *o'R do get nam>?
i Answerl: R"aw1 — wherever they are both 09, they fined him; if not, they fined her (to lose na1n3)
ii  Answer2: >33 —nn MR don’t need support (w/loss of N212); 13297 D NOR need support
iii Answer3: in case of M1V, she instigated the marriage (she loses nothing, status-wise) - she is fined;
in case of MVYTP MR, he instigated the marriage 2he is fined
iv  Answer4a (hybrid): R"2w1 is the author — reason for answer #1 is answer #3
v Answer4b (hybrid): »21 is the author — reason for n¥1>n’s inclusion among NN ™R is that she is
112770 nboa (unlike n7w)
vi  Split the difference (between 82w and »37):
1 Attempt #1: HYR7Y NN narmn:
(a) x"aw: she will instigate it (should lose namn3)
(b) »17:itis n”nn, he should pay naima
(c) challenge: if we accept R™ (contra v™) that there is no way to “cleanse” 2mn-progeny, she
won’t instigate the marriage
2 attempt #2: NOIVN INVIN PINN
(a) x"aw: she will instigate it (loses nothing — the offspring are 9w3) — she should lose namn>
(b) »17:itis n”nn - should pay namd
(c) challenge: according to ™, she won't instigate, since the children will be n»mn
3 attempt #3:3"35 nnya
(a) x"aw: she will instigate it (should lose namn3)
(b) »17:itis n”nn — should pay namn3
(c) challenge: »"ar1 holds nwy »a»nn Yon v (i.e. she won’t instigate the marriage since the
offspring will be m%%n)
4 attempt #4: returning his nv1o pao
(a) x"aw: she will instigate it (nothing to lose) >should lose nam>
(b) »17:itis n"nn >should pay
(c) challenge: wIn 12 X'Nn "1 — even this violation makes her a Nt
5 attempt #5: RT NVID
(a) ®"aw: she will instigate it and no authority maintains that the offspring is
stigmatized>should lose namn>
(b) »11: n"nn > should pay nam>d
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